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1. Please find the general solution of Y +4y = X +2e™* .

2. Please solve the equation using Laplace transform.

ty"+(4t-2)y'-4y=0; y(0)=1.

3. A parallelogram has two incident sides extending from (0, 1, —2)to (1, 2, 2) and from (0,1, —2)

to (1, 4, 1). Please find the area of this parallelogram.

4. Solve the system as the following

-X, + 2% + 4x, =0

-X, + 3x, =0
2x, + X, + 3 + 7x, =0
6x, + 2x, + 10x, + 28x, =0

k, —a<t<a,

5. Let a and k be positive numbers, and  f(t) = 0 {t > a,
" lt<-a

please find the amplitude spectrum of f (t).




